Pli 7l

SIGNATURE SERIES
SOMB
SIGNATURE OLYMPIC MILITARY BENCH

P ———

S

@ .Dowwmoa
%&ﬂ(

Customer Support Services

PARTS LIST

Page



SOMB SIGNATURE OLYMPIC MILITARY BENCH
CONTENTS

PAGE
COMPONENT ASSEMBLY 3
COMPONENT ASSEMBLY LEGEND 4
SEAT FRAME ASSEMBLY 3)
LEFT SIDE FRAME ASSEMBLY 6
LEFT SIDE FRAME ASSEMBLY LEGEND 7
RIGHT SIDE FRAME ASSEMBLY 8
RIGHT SIDE FRAME ASSEMBLY LEGEND 9
SPOTTER PLATFORM ASSEMBLY 10
IMAGE 11

NOTE: SUBSTITUTE PART NUMBERS ENDING
WITH ‘XX WITH THE REQUIRED COLOR CODES.

FRAME PADS
01 =WHITE 01 = BLACK
02 = PLATINUM 99 = CUSTOM

03 = BLACK

Page 2



SOMB SIGNATURE OLYMPIC MILITARY BENCH

COMPONENT ASSEMBLY

Q

SEE PAGE 4 FOR LEGEND

Page



SOMB SIGNATURE OLYMPIC MILITARY BENCH
COMPONENT ASSEMBLY LEGEND

ITEM NO.

. |DESCRIPTION

ASSY, SOMB, SEAT FRAME

ASSY, SOMB, LEFT SIDE FRAME

ASSY, SOMB, RIGHT SIDE FRAME

WLDMT, SOMB, X-MEM

ASSY, SOMB, SPOTTER PLATFORM

PAD, 24 X 11 FLAT

PAD, 10 X 16 TAPERED CONVEX

SCREW, M10 X1.5 35MM

SCREW, M10 X1.5 25MM

PLUG, 1"HOLE

NUT, M10 X 1.5 HEX NYLOCK

WASHER, FLAT 3/8" SAE ST ZN

DECAL, WARNING, VERT, MULTI-LANG SHEET

Page 4



https://www.gympart.com/itemdesc.aspx?ic=LFS2102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS385&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS437&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1004&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS458&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS392&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS084&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS926&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1614&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

SOMB SIGNATURE OLYMPIC MILITARY BENCH
SEAT FRAME ASSEMBLY - 81583XX

ITEM NO. | QTY. | PARTNO. |DESCRIPTION

1 81583XX |ASSY, SOMB, SEAT FRAME

@@ |CAP, LRG FLOV END

@EBRE501 |[CAP, SML FLOV END

2
3
4 8106801 |LABEL, SERIAL NUMBER, LARGE

Page 5


https://www.gympart.com/itemdesc.aspx?ic=LFS083&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS765&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

SOMB SIGNATURE OLYMPIC MILITARY BENCH
LEFT SIDE FRAME ASSEMBLY - 81886XX

@/ TENEENE

SEE PAGE 7 FOR LEGEND

Page 6



SOMB SIGNATURE OLYMPIC MILITARY BENCH
LEFT SIDE FRAME ASSEMBLY LEGEND

ITEM NO.

QTY.

PART NO.

DESCRIPTION

—_

81886XX

ASSY, SOMB, LEFT SIDE FRAME

~N

SCREW, M10 X 1.5 25MM ZN

M10 X 1.5 X 25MM UNS HEX CS ST ZN

NUT, M10 X 1.5 HEX NYLOCK

7804601

GUARD, BAR CATCH

1

GUARD, BAR CATCH, LOWER

WININ ™™

1

HOOK, BAR CATCH

w

WASHER, FLAT 3/8" SAE ST ZN

WASHER, FLAT 3/8" SAE ST ZN

FOOT, 2.20 X 4.49 FLOV

COVER, FOOT-STRAIGHT

CAP, LRG FLOV END

8003301

LABEL, LIFE FIT2-1/2 X 15 SG

GUARD, BAR REST

e N P S B P R e R N R BN Y N

NINININININ]

@m01501

BUMPER, SLEEVE-1.000 ID

Page 7



https://www.gympart.com/itemdesc.aspx?ic=LFS2102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS2102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS437&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS2030&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1004&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS458&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LF13062&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS082&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS079&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS083&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS779&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1012&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1011&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1793&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1774&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

SOMB SIGNATURE OLYMPIC MILITARY BENCH
RIGHT SIDE FRAME ASSEMBLY - 81577XX

SEE PAGE 9 FOR LEGEND

Page 8



SOMB SIGNATURE OLYMPIC MILITARY BENCH
RIGHT SIDE FRAME ASSEMBLY LEGEND

ITEM NO. [ QTY. | PART NO. |DESCRIPTION

ASSY, SOMB, RIGHT SIDE FRAME
G (SCREW, M10 X 1.5 25MM N
@202 (M10 X 1.5 X25MM UNS HEX CS ST ZN
@Ree2 (NUT, M10 X 1.5 HEX NYLOCK
GUARD, BAR CATCH

@500 (GUARD, BAR CATCH, LOWER
aEmmsen |HOOK, BAR CATCH

WASHER, FLAT 3/8" SAE ST ZN

4 [WASHER, FLAT 3/8" SAE ST ZN
amsseen [FOOT, 2.20 X 4.49 FLOV
e |COVER, FOOT-STRAIGHT

CAP, LRG FLOV END

8003301 [LABEL, LIFE FIT 2-1/2 X 15 SG
7878702|GUARD, BAR REST

8101501 |BUMPER, SLEEVE-1.000 ID
7002401 |LABEL, V WARNING 4.5 X 1.625

(00]
(&)
~
~N
>
>

N

WININI A~

Aol ool B NE le ) NG, || QNN IUVR I\
w
N

—ININININININ]

Page 9


https://www.gympart.com/itemdesc.aspx?ic=LFS2102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS2102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS437&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS2030&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1004&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS458&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LF13062&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS082&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS079&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS083&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS779&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1012&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1011&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1793&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1774&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

SOMB SIGNATURE OLYMPIC MILITARY BENCH
SPOTTER PLATFORM ASSEMBLY - 81594 XX

7

QOO

000000000D
ololololo)

@
Qoo
QLYY

QOO0
(@

oo
A

Qoo

0000000005
QOO0

@
wlojole,
QLLLLLLOL

QOO

/

oo
@)

QoL

ITEM NO.

QTY.

PART NO.

DESCRIPTION

1

81595XX

WLDMT, SOMB, SPOTTER STAND

7840301

FOOT PAD, CM/MJ, OVERMOLD

3242003

NUT, M6 X 1.0 HEX NYLOCK SS

#800501

CAP, SML FLOV END

(G2} BF-N IOV I\

O|IN]OOIN] —

WASHER, FLAT 1/4 1D ZN

Page 10



https://www.gympart.com/itemdesc.aspx?ic=LF15135&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS061&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS765&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

SOMB SIGNATURE OLYMPIC MILITARY BENCH
IMAGE




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11

